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Figure 1: Leading vs sub-leading mass distribution
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Figure 2: pmiss
T GeV and Ncluster
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Figure 3: Leading vs sub-leading mass distribution with pmiss
T < 0.15 GeV and

Ncluster ≤ 9
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1 Conditional mass distributions with
pmiss
T < 0.15 GeV and Ncluster ≤ 9

5



1 1.5 2 2.5 3
 [GeV] 0K0K m

0

5

10

15

20

25

ev
en

ts  

 = 510 GeV sSTAR pp 

 

1 1.5 2 2.5 3
 [GeV] 0K0K m

0

1

2

3

4

5

6

7

ev
en

ts  

 = 510 GeV sSTAR pp 

 

1 1.5 2 2.5 3
 [GeV] 0K0K m

0

2

4

6

8

10

12

14

16

18

20

22

24

ev
en

ts  

 = 510 GeV sSTAR pp 

 

Figure 4: K0K0 mass
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Figure 5: K0K0 pT
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Figure 6: K0K0 η
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Figure 7: DCA
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Figure 8: R s
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